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https://dl.doubtnut.com/l/_c6gnkdaLASjl

27.REHAGAB | | CD@diz =
A

132°
p 148°

C\<
A.100°
B.105°

C.110°

D.115°

Answer: A
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https://dl.doubtnut.com/l/_PeKLCompXizt

28. R § I I@T | 3R m WRIER AR &, dl x =

/ m

‘ |
307

70°

A.70°

B.100°

C.40°

D. 30°


https://dl.doubtnut.com/l/_OSKouyRQRbgt

Answer: C
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29.RAAARI | | mBdAIx=

65°

40°

A.105°

B.65°

C.40°

D. 25°


https://dl.doubtnut.com/l/_OSKouyRQRbgt
https://dl.doubtnut.com/l/_C4UWlv87x2yc

Answer: A
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30.RAAAR] | | mBdAIx=

*

125°

A.35°

B.55°

C.65°

D.75°

Answer: A
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https://dl.doubtnut.com/l/_C4UWlv87x2yc
https://dl.doubtnut.com/l/_PJDQhKKKxP5N
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https://dl.doubtnut.com/l/_PJDQhKKKxP5N

